Parabolas and Profit
Name _____________________________________

1. The value of Jennifer’s stock portfolio is given by the function v(t ) = 50 + 73t − 3t2 , where  the value  of the portfolio in hundreds of dollars and t is the time in months. How much money did Jennifer start with?  When will the value of Jennifer’s portfolio be at a maximum?

2.   The value of Jon’s stock portfolio is given by the function v(t ) = 50 + 77t + 3t2    where v is

the value of the portfolio in hundreds of dollars and t is the time in months. How much money did Jon start with? What is the minimum value of Jon’s portfolio? What is the maximum value? When will the maximum occur?
3.   Find the number of units that produce the maximum revenue for 
R = 900x − 0.1x2  

where R is  the total revenue (in dollars) and    x is the number of units sold.

4.   A textile manufacturer has daily production costs of C = 10000 − 110x + 0.045x2 , where

C is the total cost (in dollars) and     x is the number of units produced.  
How many units  should be produced each day to yield a minimum cost?

5. A manufacturer of light fixtures has daily production costs of C (x) = 800 − 8x + 0.25x2 ,

where C is the total cost (in dollars) and  x is the number of units produced.  How many  units should be produced every day to yield a minimum cost?

6. A company’s weekly revenue in dollars is given by

R(x) = 2000x − 2 x 2 , where    x is the  number of items produced during a week.  
What amount of items will produce the maximum revenue?

7. A company earns a weekly profit of P dollars by selling

x items, according to the equation

P(x) = −0.5x 2   + 40x − 300 . How many items does the company have to sell each week to

maximize the profit?

8. Advertising revenue for newspapers in the United States for the years 1985 through 1999 is approximated by the model R = −1.03 + 7.11t − 0.38t 2    where R is revenue in billions of dollars and t represents the year with t = 5 corresponding to the year 1985. In what year will revenue be maximum?







